- Ba T BRI B ERRTH Ehigiser B (H A A & O EA)
SRTHEI A 1A BIE STHFEAA 1B BTE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 L B L 24
w—TH 338 346 684 285 339 345 684 285 1 A1 0 0
EIL=TH 311 329 640 241 305 328 633 241 YANK A1 VAN 0
EIL=TH 484 5301 1,014 410 484 529 1,013 412 0 A1 A1 2
=LY H 222 25h1 473 181 219 248 467 181 AN 3 VANRS! VANKS) 0
EILILTH 143 138 281 149 143 137 280 146 0 A1 A1 A3
iﬁlﬂé}%ﬁ‘ 1,498 1,594 3,092 1,266} 1,490 1,587 3,077 1,265 YANE:: NTl A 15 yAND |
WHRAE—TH 111 126 237 94 109 124 233 93 VAN A 2 A\ 4 A1
WHRE-TH 211 233 444 175 209 232 441 174 YANY A1 VANRS! yAND |
WRE=TH 288 346 634 250 288 345 633 250 0 A1 A1 0
WRAEMTH 139 143 282 122 139 143 282 122 0 0 0 0
WRELTH 244 253 497 196 245 256 501 197 1 3 4 1
WRENSRTH 286 273 559 225 284 271 HHh 225 N\ 2 YANY YANE.! 0
WREARE 1,279 1,374 2,653 1,062} 1,274 1,371 2,645 1,061 JANES A 3 A\ 8 A1
WREH—TH 451 446 897 354 452 448 900 356 1 2 3 2
WRAER - TH 546 5431 1,089 361 541 539 1,080 360 YANRS! YANE.! A9 A1
W RAMEATF 997 989 1,986 71b 993 987 1,980 716 YANE! YANY A\ 6 1




ZIL - REeT BRI DOMEETIH xR (EARADRH)
SRTHEI A 1A BIE STHFEAA 1B BTE L HE IR
Hh X 4 <, 58 I G 58 bR B 158 it T2
w—TH 335 341 676 278 336 340 676 279 1 A1 0 1
EIL=TH 309 324 633 239 303 323 626 239 YANK A1 VAN 0
EIL=TH 482 5201 1,002 406 482 518 1,000 405 0 A 2 YAND A1
=LY H 221 248 469 179 218 245 463 179 AN 3 VANRS! VANKS) 0
EILILTH 113 134 247 117 114 133 247 117 1 A1 0 0
iﬁlﬂé}%ﬁ‘ 1,460 1,567 3,027 1,219} 1,453 1,559 3,012 1,219 YANNG A8 A 15 0
WHRAE—TH 111 124 235 94 109 122 231 93 VAN A 2 A\ 4 A1
WHRE-TH 211 233 444 175 209 232 441 174 YANY A1 VANRS! yAND |
WRE=TH 285 345 630 248 285 344 629 248 0 A1 A1 0
WRAEMTH 138 142 280 121 138 142 280 121 0 0 0 0
WRELTH 243 252 495 196 244 25h 499 197 1 3 4 1
WRENSRTH 286 272 558 225 284 270 HhH4 225 N\ 2 YANY YANE.! 0
WREARE 1,274 1,368 2,642 1,059} 1,269 1,365 2,634 1,058 JANES A 3 A\ 8 A1
WREH—TH 449 446 895 354 450 448 898 356 1 2 3 2
WRAER - TH 546 539 1,085 361 541 535 1,076 360 YANRS! YANE.! A9 A1
W RAMEATF 995 985 1,980 715 991 983 1,974 716 YANE! YANY A\ 6 1




==L REe T BRI OREETH xR GHE A DA)
SRTHEI A 1A BIE SRTE4LH 1A BTE L HE IR
A | B | k| A | B | & | 3 |t B | & 48
w—TH 3 H 8 7 3 5) 8 §) 0 0 0 A1
EIL=TH 2 5 7 2 2 5 7 2 0 0 0 0
EIL=TH 2 10 12 4 2 11 13 7 0 1 1 3
=LY H 1 4 2 1 3 4 2 0 0 0 0
EILILTH 30 4 34 32 29 4 33 29 A1 0 1 A3
iﬁu_l/a}%{‘ 38 27 65 47 37 28 65 46 VAR | 1 0 yAND |
WHRAE—TH 0 2 2 0 0 2 2 0 0 0 0 0
WHRAETH 0 0 0 0 0 0 0 0 0 0 0 0
WRE=TH 3 1 4 2 3 1 4 2 0 0 0 0
WRAEMTH 1 1 2 1 1 1 2 1 0 0 0 0
WRELTH 1 1 2 0 1 1 2 0 0 0 0 0
WREANTH 0 1 1 0 0 1 1 0 0 0 0 0
WREEE 5 6 11 3 H 6 11 3 0 0 0 0
WRAERE—TH 2 0 2 0 2 0 2 0 0 0 0 0
WREETH 0 4 4 0 0 4 4 0 0 0 0 0
W REREAH 2 4 6 0 2 4 6 0 0 0 0 0




